EEBXFEYYH—ERB AKX H

JUFA

Hokushinetsu

1J—5 (1&1)—) 281 HENo. [-A07 £15 BRI«—ILE RREREEE LA BE
#B 2025 £ 5H 31 B (1) i ¥voto X2 W KB ‘CR  FBE
EyF AIZ IR BE E(N YyFaAIvat— -
TE nE 8K EIZE 1 =R B/E  BIB2 Heh BE  F4F BN B&
(7Rh—4Ls) 0 #r¥ 3 (FozA)
0 #+* 2
FREEKXEA 0 s 5 FiREREALKEC
H Bom 3 — Ry Kick off BbH0 — 3 i
15 PK 15
Ll | . e 21— e I . 18 D gExu] | ¥
fé TEN"' BFE S mw [ a o E%Faﬁ/ﬁ%TENO' SR I e e e e |
90| [o<[7T 1R A 0 0 a7 T Rk 0 0 | 90
90| [er|2 | BfX #AM 0 0 HoF|0| EEF —% 0 32 4] 32
90| [or|4 | kIR RE 0 sloF|24 | FFE RE 0 0 84 4| 84
45] [oF|1e | Rk 3 0 45% gloF(2e | EFT AHEE 1 0 »|| 90
0] Iorlss| Kim k& 0 0 sloF|2 | BB FEK |2 3 0 s 90
87| |5 | 2B A 0 0 87 ulwle | HLE EE 1 0 NN
90| Iw¥[7 | WTF & 1 0 a3 ¥ EiE 2 0 11 90
67| Ivr|ie| 2 =2 0 0 67 4wl HE HBR 1 0 65 4| 65
gol Ivele| W F 42 0 0 82 4|wFlss| AR BRHE 0 0 84 4]| 84
00| || Zix A 0 0 sl | 1EBE BEZ 0 22 41| 22
45| ||| A BX 0 45% glrw|as | SR A 1] 1 0 49 4| 49
o] [oF|3 | H¥ ZE— 1 o glor|7 | R BX &
o] for[2| B RS o glorfs | #HEF EHED *au x|l 0
ol Iwr|s| hiB FX 6 mlor|i7| EFE MK 0oz 0
ol Jwr|1s| HE =&k o oglwl2 | FE H w5 zl] 0
of [vrf1s| dbJII g o oglvrlo] B Rt = =] o
o] |vr(2| BH kiE 5 glw|o| {hE BE = &l o
ol w2 | ZmFE HEE o0 glwrle2 | AL EEFR 20 oz 0
o] frw[e+| iAT#& #HKX o glewln ] bl EiR 2 1 1 =l] 0
0 © alevfs] TR A | 1 R |
R e gg o | | A colse e g | EE 2L-Ri5
e | et antlae wef D e S5E
w3 c2[3 AR E—]1 1 2 lva—rz] 18 11 7 o7 5[ C1]|26 HFT HEE
8 |C5|7 T & 4 5 9 GK |3 ]1 2 %
s 2 cifie JeLJIl (DFE | 0 1 1 ck |11 ] 5 6 %
% 5 7 12 |E#EFKl 10| 3 7 %
% 1 0 1 |EEFK] 1 1 0 o)
% 1 0 1 oyl 1 |1 o %
) 0 0 0 PK o |Jo o %

IR BFF—LDOATHAFHERTLTVS,

BRISEH SIELKRELATL— S2ERGITSH SIOIEHE S4FAMERMELE(F) SeFRARKIEIL () S6RE CSEH2M

BR[| F—L% [N BEEN 7ORE N 7URN 237 | BARE QIL—RIHSDBH. EFNo.. TL—NZ]
4 | BEEREILATC|29 FBIE |24 FE 0 — 1|z« 24 [ =21 29 HS
8 4| wmESMELAEC|20 ERFE |26 ST 4 FE | 0 — 2 Ak 24 1 #x 26 H =21 29 HS
37 4| FmREMmELAZC(23 AR 0 — 3 |mkA1 24 T ®:1 X w1 23 &=s
54 4| #mEmELAFC(33 JIF (26 BT 18 F2U( 0 — 4 [H2 13 — H1 26 T +21 33 HS
80 4|#BEmELXEC| OG 0 — 5([%£124 — £1 13 | =2 s OG
5 —
N —
5 —
N —
5 —
N —
5 —
N —
~RYTIL = TS9F—DIRR 1FEBRO/IAR HATAUT DR Soa—k HSAT VT a—b VSiRL—Ya—b

|t—sF—L@BEELH|

LI H 5

|79z 157—nEeE L]

{2 wkpaseE

T EZ

BIHEPT 0:00 #:ptarsz

#TEZ

#%EPT 0.00 #ig¥PT 04

T REREIEAZC 00 DR L. MR El-koX 1k (23% Ak — 3B 1A




